BID TABULATION FOR:

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE LEVEY LANE, AND BELTWAY 8 AND HOOPER WATER LINE AND LEVEY LOGISTICS PUBLIC WATER LINE (CITY OF PEARLAND, HARRIS COUNTY, TEXAS MAY 10, 2024

LJA ENGINEERING, INC.
T. JOSEPH
MAY 14, 2024
2209-2004 (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

1) V&S CONSTRUCTION COMPANY, LLC

\$1,690,066.00

2) TLC CONSTRUCTION CONTRACT SERVICES, INC.

\$1,767,239.88

CALENDAR DAYS 75/90

Kenya tranco

I, Kenya Franco, PE, hereby certify these bid tabulations to be true and correct.



BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE LEVEY LANE, AND BELTWAY 8 AND HOOPER WATER LINE AND LEVEY LOGISTICS PUBLIC WATER LINE CITY OF PEARLAND, HARRIS COUNTY, TEXAS MAY 10, 2024 LJA ENGINEERING, INC.

LJA ENGINEERI T. JOSEPH MAY 14, 2024 2209-2004 (9.2)

				1) V&S CONSTRUCTION COMPANY, LLC		2) TLC CONSTRUCTION CONTRACT SERVICES, INC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
LEVEY LANE WATER ITEMS							
1	12" PVC WATER LINE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING AND BACKFILL, ALL NECESSARY BENDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	350	\$125.00	\$43,750.00	\$112.00	\$39,200.00
2	12" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	1	\$4,000.00	\$4,000.00	\$3,843.00	\$3,843.00
3	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	350	\$1.00	\$350.00	\$1.00	\$350.00
4	FLUSHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	EA	1	\$6,700.00	\$6,700.00	\$8,282.00	\$8,282.00
LEVE	Y LANE WATER ITEMS SUBTOTAL:				\$54,800.00		\$51,675.00
LEVE	EY LANE STORM SEWER ITEMS						
1	24" RCP STORM SEWER, ALL CUTS, TO INCLUDE BEDDING & BACKFILL, COMPLETE IN PLACE	LF	95	\$155.00	\$14,725.00	\$149.00	\$14,155.00
2	$42^\circ$ RCP STORM SEWER, ALL CUTS, TO INCLUDE BEDDING & BACKFILL, COMPLETE IN PLACE	LF	47	\$300.00	\$14,100.00	\$304.00	\$14,288.00
3	6'X3' RCB STORM SEWER, ALL CUTS, TO INCLUDE BEDDING & BACKFILL, COMPLETE IN PLACE	LF	457	\$670.00	\$306,190.00	\$849.00	\$387,993.00
4	STAGE I – STANDARD 5' REINFORCED CONCRETE PRECAST INLET ("C") ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	3	\$4,000.00	\$12,000.00	\$5,240.00	\$15,720.00
5	STAGE II – STANDARD 5' REINFORCED CONCRETE PRECAST OR REINFORCED CONCRETE CAST-IN-PLACE (4,000 PSI) INLET ("C"), COMPLETE IN PLACE	EA	3	\$3,000.00	\$9,000.00	\$1,506.00	\$4,518.00
6	TYPE "AZ2G" INLET, COMPLETE IN PLACE	EA		\$7,000.00	\$7,000.00	\$7,428.00	\$7,428.00
7	TYPE "C" PRECAST OR CAST-IN-PLACE MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$5,000.00	\$10,000.00	\$4,267.00	\$8,534.00
8	JUNCTION BOX WITH TYPE "C" MANHOLE TOP, INCLUDES FINAL ADJUSTMENTS AS REQUIRED, ALL SIZES AND ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$20,000.00	\$80,000.00	\$14,292.00	\$57,168.00
9	EXPOSE EXISTING 6'X3' RCB AND CONNECT PROPOSED 6'X3' RCB, INCLUDING PARTIAL REMOVAL OF RCB, AND CONCRETE COLLAR, COMPLETE IN PLACE	EA	1	\$3,000.00	\$3,000.00	\$3,497.00	\$3,497.00
10	CONNECT PROPOSED JUNCTION BOX D-3 TO EXISTING 24" RCP, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,900.00	\$1,900.00	\$889.00	\$889.00
11	CONNECT PROPOSED TYPE 'C' MANHOLE TO EXISTING 42" RCP, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00	\$889.00	\$889.00
12	REMOVE AND DISPOSE OF EXISTING 24" CMP, COMPLETE IN PLACE	LF	27	\$30.00	\$810.00	\$22.00	\$594.00
13	REMOVE AND DISPOSE OF EXISTING 36" CMP, COMPLETE IN PLACE	LF	66	\$30.00	\$1,980.00	\$24.00	\$1,584.00
14	REMOVE AND DISPOSE OF EXISTING STORM INLET $\;$ WITH MANHOLE, COMPLETE IN PLACE	EA	1	\$800.00	\$800.00	\$595.00	\$595.00
15	REMOVE AND DISPOSE OF EXISTING STORM MANHOLE, COMPLETE IN PLACE	EA	1	\$800.00	\$800.00	\$595.00	\$595.00
16	4" REINFORCED CONCRETE SLOPE PAVING, TO INCLUDE 18" TOE WALL AROUND PERIMETER OF SLOPE PAVING, AS SHOWN IN DETAIL, COMPLETE IN PLACE	SY	23	\$150.00	\$3,450.00	\$266.00	\$6,118.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

LEVEY LANE MISCELLANEOUS ITEMS

CONSTRUCTION OF WATER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE LEVEY LANE, AND BELTWAY 8 AND HOOPER WATER LINE AND LEVEY LOGISTICS PUBLIC WATER LINE CITY OF PEARLAND, HARRIS COUNTY, TEXAS MAY 10, 2024 LJA ENGINEERING, INC.

2) TLC CONSTRUCTION CONTRACT SERVICES, INC.

T. JOSEPH MAY 14, 2024 2209-2004 (9.2)

1) V&S CONSTRUCTION COMPANY, LLC

				1) V&S CONSTRUCTIO	ON COMPANY, LLC	2) ILC CONSTRUCTION	N CONTRACT SERVICES, INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
17	18" THICK RIP-RAP (AS SHOWN IN DETAIL), COMPLETE IN PLACE	SY	35	\$100.00	\$3,500.00	\$125.00	\$4,375.00
18	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	599	\$1.00	\$599.00	\$0.12	\$71.88
19	TYPE 3 ROCK FILTER DAM FOR CONSTRUCTION OF POND OUTFALL, TO INCLUDE PUMPING, INSTALLATION, AND REMOVAL UPON COMPLETION, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER) COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$2,655.00	\$2,655.00
LEVE	Y LANE STORM SEWER ITEMS SUBTOTAL:				\$473,854.00		\$531,666.88
LEVE	EY LANE PAVING IMPROVEMENT ITEMS						
1	$7^{\rm o}$ REINFORCED CONCRETE PAVEMENT, INCLUDING $6^{\rm o}$ REINFORCED CONCRETE CURB, COMPLETE IN PLACE	SY	1868	\$100.00	\$186,800.00	\$72.00	\$134,496.00
2	8" LIME STABILIZED SUB-GRADE (MANIPULATION), COMPLETE IN PLACE	SY	2058	\$12.00	\$24,696.00	\$11.00	\$22,638.00
3	HYDRATED LIME FOR 8" STABILIZED SUB-GRADE (53 LBS/SY) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECH ENGINEER), COMPLETE IN PLACE	TON	55	\$420.00	\$23,100.00	\$406.00	\$22,330.00
4	PERMANENT TRAFFIC CONTROL DEVICES (INCLUDING TRAFFIC BUTTONS, PAVEMENT STRIPING), COMPLETE IN PLACE	LS	1	\$17,000.00	\$17,000.00	\$2,785.00	\$2,785.00
5	2' WIDE FULL DEPTH SAW CUT, CONTRACTOR TO REMOVE CONCRETE, CURB & SUBGRADE THEN EXPOSE AND CLEAN REINFORCING STEEL, CONNECT PROPOSED PAVING TO EXISTING PAVING WITH UNDERCUT, COMPLETE IN PLACE	LF	79	\$90.00	\$7,110.00	\$9.00	\$711.00
6	ROADWAY AND R.O.W. EXCAVATION, COMPLETE IN PLACE	CY	664	\$7.00	\$4,648.00	\$10.00	\$6,640.00
7	ROADWAY, R.O.W., AND RESERVE FILL (IN PLACE), TO INCLUDE STRIPPING & PROOFROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS, COMPLETE IN PLACE	CY	664	\$12.00	\$7,968.00	\$7.00	\$4,648.00
8	EXCAVATE AND HAUL EXCAVATED MATERIAL OFF-ROAD FROM STOCKPILE TO CHANNEL AREA (NO GREATER THAN 0.5 MILE), PLACEMENT AND COMPACTION, FINAL GRADING, STRIPPING, STOCK PILING STRIPPINGS, DEMUCKING OF EXISTING CHANNEL AND REAPPLYING STRIPPINGS, COMPLETE IN PLACE	СУ	830	\$22.00	\$18,260.00	\$7.00	\$5,810.00
9	TEMPORARY TRAFFIC CONTROL FOR CONNECTION TO SAM HOUSTON PARKWAY WEST, COMPLETE IN PLACE	LS	1	\$12,000.00	\$12,000.00	\$5,251.00	\$5,251.00
10	REMOVE AND DISPOSE OF EXISTING CONCRETE HEADWALL, APPROXIMATELY 21'X9', COMPLETE IN PLACE	EA	1	\$25,000.00	\$25,000.00	\$2,782.00	\$2,782.00
11	REMOVE AND DISPOSE OF EXISTING GUARD RAIL, COMPLETE IN PLACE	LF	155	\$22.00	\$3,410.00	\$31.00	\$4,805.00
12	REMOVE AND DISPOSE OF EXISTING CONCRETE WEIR STRUCTURE, APPROXIMATELY 578 S.Y. (SHOWN ON SHEET 3), COMPLETE IN PLACE	LS	1	\$5,500.00	\$5,500.00	\$8,952.00	\$8,952.00
13	REGRADING OF EXISTING HIGHBANK OF THE EXISTING HARRIS COUNTY DETENTION POND AFTER REMOVAL OF CONCRETE WEIR STRUCTURE, COMPLETE IN PLACE	LS	1	\$7,000.00	\$7,000.00	\$816.00	\$816.00
14	TYPE III BARRICADE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER) COMPLETE IN PLACE	EA	2	\$2,800.00	\$5,600.00	\$1,357.00	\$2,714.00
LEVE	Y LANE PAVING IMPROVEMENT ITEMS SUBTOTAL:				\$348,092.00		\$225,378.00

FRN F-1386 LJA Engineering, Inc.

## BID TABULATION FOR:

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

BELTWAY 8 AND HOOPER WATER LINE MISCELLANEOUS

CONSTRUCTION OF WATER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE LEVEY LANE, AND BELTWAY 8 AND HOOPER WATER LINE AND LEVEY LOGISTICS PUBLIC WATER LINE CITY OF PEARLAND, HARRIS COUNTY, TEXAS MAY 10, 2024 LJA ENGINEERING, INC. T. JOSEPH MAY 14, 2024

2) TLC CONSTRUCTION CONTRACT SERVICES, INC.

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	HYDROMULCH SEEDING OF DISTURBED AREAS, INCLUDING FERTILIZING AND WATERING, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	0.5	\$4,000.00	\$2,000.00	\$9,136.00	\$4,568.00
2	STORM SEWER DEWATERING, (TO BE USED ONLY AT $$ THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$40.00	\$4,000.00	\$25.00	\$2,500.00
3	EXTRA CEMENT STABILIZED SAND BACKFILL, (1 $\%$ SACKS PER YARD) AS DIRECTED BY THE GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	LF	100	\$28.00	\$2,800.00	\$15.00	\$1,500.00
4	EXTRA CEMENT STABILIZED SAND BACKFILL, (1 $\%$ SACKS PER YARD) AS DIRECTED BY THE GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	CY	50	\$28.00	\$1,400.00	\$20.00	\$1,000.00
5	INSTALL AND MAINTAIN FILTER FABRIC FENCE ALONG BOUNDARY BEFORE CONSTRUCTION STARTS, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	868	\$2.00	\$1,736.00	\$1.00	\$868.00
6	STABILIZED CONSTRUCTION EXIT AT LOCATION SHOWN ON PLANS, TO INCLUDE INSTALLATION, MAINTENANCE, AND REMOVAL, (TO BE USED AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00	\$3,835.00	\$3,835.00
7	CONCRETE TRUCK WASHOUT PIT, TO INCLUDE INSTALLATION, MAINTENANCE, AND REMOVAL, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$700.00	\$700.00	\$767.00	\$767.00
8	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, COMPLETE IN PLACE	EA	1	\$9,000.00	\$9,000.00	\$3,068.00	\$3,068.00
9	CONTRACTOR TO REMOVE AND DISPOSE OF EXISTING DEBRIS (INCLUDING TRASH, TIRES, MATTRESSES, ETC.) PER STANDARD 40 YARD DUMPSTER LOAD, INCLUDES LOADING, HAUL-OFF, ENVIRONMENTAL COMPLIANCE, AND DISPOSAL, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LS	1	\$30,000.00	\$30,000.00	\$2,301.00	\$2,301.00
10	UTILITY SPOILS (ESTIMATED QUANTITY OF 600 CUBIC YARDS) TO BE PLACED WITHIN THE PROPOSED LIMITS OF LEVEY LANE, INCLUDES HAULING, STRIPPING STOCK PILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, AND REAPPLICATION OF STRIPPINGS IN ACCORDANCE WITH THE CONSTRUCTION PLANS, COMPLETE IN PLACE	LS	1	\$14,000.00	\$14,000.00	\$3,069.00	\$3,069.00
LEVE	Y LANE MISCELLANEOUS ITEMS SUBTOTAL:				\$68,136.00		\$23,476.00
BEL1	TWAY 8 AND HOOPER WATER LINE						
1	12" PVC WATER LINE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING AND BACKFILL, ALL NECESSARY BENDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	2700	\$95.00	\$256,500.00	\$129.00	\$348,300.00
2	AUGER, BORE AND JACK, OR TUNNEL FOR 12" PVC WATER LINE, (EXCLUDES LINE PIPE), INCLUDES BORE PITS, CASING, ALL DEPTHS, COMPLETE IN PLACE	LF	190	\$250.00	\$47,500.00	\$325.00	\$61,750.00
3	FLUSHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, $6^\circ$ GATE VALVE $\&$ BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	EA	9	\$7,500.00	\$67,500.00	\$8,257.00	\$74,313.00
4	12"X12" TAPPING SLEEVE AND VALVE & BOX, COMPLETE IN PLACE	EA	1	\$8,500.00	\$8,500.00	\$10,881.00	\$10,881.00
5	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	2700	\$1.00	\$2,700.00	\$0.12	\$324.00
BELT	WAY 8 AND HOOPER WATER LINE SUBTOTAL:				\$382,700.00		\$495,568.00

2209-2004 (9.2)

1) V&S CONSTRUCTION COMPANY, LLC

FRN F-1386 Page 4 of 6

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE LEVEY LANE, AND BELTWAY 8 AND HOOPER WATER LINE AND LEVEY LOGISTICS PUBLIC WATER LINE CITY OF PEARLAND, HARRIS COUNTY, TEXAS MAY 10, 2024 LJA ENGINEERING, INC.

2) TLC CONSTRUCTION CONTRACT SERVICES, INC.

T. JOSEPH MAY 14, 2024 2209-2004 (9.2)

1) V&S CONSTRUCTION COMPANY, LLC

				1) V&S CONSTRUCTIO	N COMPANY, LLC	2) ILC CONSTRUCTION CON	TRACT SERVICES, INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	INSTALL AND MAINTAIN FILTER FABRIC FENCE ALONG BOUNDARY BEFORE CONSTRUCTION STARTS, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	2800	\$2.50	\$7,000.00	\$1.00	\$2,800.00
2	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, COMPLETE IN PLACE	EA	1	\$4,000.00	\$4,000.00	\$2,419.00	\$2,419.00
3	UTILITY SPOILS (ESTIMATED QUANTITY OF 792 CUBIC YARDS) TO BE PLACED WITHIN THE PROPOSED LIMITS OF LEVEY LANE, INCLUDES HAULING, STRIPPING, STOCK PILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, AND REAPPLICATION OF STRIPPINGS IN ACCORDANCE WITH THE CONSTRUCTION PLANS, COMPLETE IN PLACE	LS	1	\$16,500.00	\$16,500.00	\$3,069.00	\$3,069.00
4	EXTRA BURLAP BAG BARRIER ON INLET, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	18	\$10.00	\$180.00	\$10.00	\$180.00
5	CLEARING AND GRUBBING OF R.O.W., (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	0.6	\$20,000.00	\$12,000.00	\$16,000.00	\$9,600.00
BELT	WAY 8 AND HOOPER WATER LINE MISCELLANEOUS SUBTOTAL:				\$39,680.00		\$18,068.00
LEVE	Y LOGISTICS PUBLIC WATER LINE ITEMS						
1	12" PVC WATER LINE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING AND BACKFILL, ALL NECESSARY BENDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	2403	\$77.00	\$185,031.00	\$124.00	\$297,972.00
2	$4^{\circ}$ PVC WATER PIPE, AWWA C-900, DR 18, ALL DEPTHS TO INCLUDE BEDDING, BACKFILL, AND FITTINGS, COMPLETE IN PLACE	LF	10	\$190.00	\$1,900.00	\$46.00	\$460.00
3	$2^{\circ}$ PVC WATER PIPE, AWWA C-900, DR 18, ALL DEPTHS TO INCLUDE BEDDING, BACKFILL, AND FITTINGS, COMPLETE IN PLACE	LF	10	\$150.00	\$1,500.00	\$41.00	\$410.00
4	FLUSHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	EA	9	\$8,000.00	\$72,000.00	\$8,144.00	\$73,296.00
5	12" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	1	\$4,500.00	\$4,500.00	\$3,843.00	\$3,843.00
6	12"X 8" TAPPING SLEEVE AND VALVE & BOX, COMPLETE IN PLACE	EA	1	\$7,500.00	\$7,500.00	\$7,261.00	\$7,261.00
7	12" PLUG AND CLAMP WITH 2" BLOW OFF VALVE AND ASSEMBLY BOX, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$2,251.00	\$2,251.00
8	$4"\mbox{PLUG}$ AND CLAMP WITH $2"\mbox{BLOW}$ OFF VALVE AND ASSEMBLY BOX, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,985.00	\$1,985.00
9	$2"\mbox{PLUG}$ AND CLAMP WITH $2"\mbox{BLOW}$ OFF VALVE AND ASSEMBLY BOX, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$1,858.00	\$1,858.00
10	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	2423	\$1.00	\$2,423.00	\$1.00	\$2,423.00
LEVE	Y LOGISTICS PUBLIC WATER LINE ITEMS SUBTOTAL:				\$278,854.00		\$391,759.00
LEVE	EY LOGISTICS MISCELLANEOUS ITEMS						
1	INSTALL AND MAINTAIN FILTER FABRIC FENCE ALONG BOUNDARY BEFORE CONSTRUCTION STARTS, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	2500	\$2.50	\$6,250.00	\$1.00	\$2,500.00
2	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, COMPLETE IN PLACE	EA	1	\$4,000.00	\$4,000.00	\$2,419.00	\$2,419.00
3	CITY OF PEARLAND INSPECTION FEE, TO EQUAL 1% OF TOTAL CONSTRUCTION AMOUNT	LS	1	\$16,500.00	\$16,500.00	\$17,498.00	\$17,498.00

FRN F-1386 Page 5 of 6

## BID TABULATION FOR:

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

SUBTOTAL BELTWAY 8 AND HOOPER WATER LINE MISCELLANEOUS

SUBTOTAL LEVEY LOGISTICS PUBLIC WATER LINE ITEMS

SUBTOTAL LEVEY LOGISTICS MISCELLANEOUS ITEMS

TOTAL AMOUNT BASE BID

CONSTRUCTION OF WATER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE LEVEY LANE, AND BELTWAY 8 AND HOOPER WATER LINE AND LEVEY LOGISTICS PUBLIC WATER LINE CITY OF PEARLAND, HARRIS COUNTY, TEXAS MAY 10, 2024 LJA ENGINEERING, INC. T. JOSEPH

\$39,680.00

\$278,854.00

\$43,950.00

\$1,690,066.00

Page 6 of 6

\$18,068.00

\$391,759.00

\$29,649.00

\$1,767,239.88

				1) V&S CONSTRUCTIO	N COMPANY, LLC	2) TLC CONSTRUCTION CO	ONTRACT SERVICES, INC.
ITEM	DESCRIPTION DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
4	UTILITY SPOILS (ESTIMATED QUANTITY OF 600 CUBIC YARDS) TO BE PLACED WITHIN THE PROPOSED LIMITS OF LEVEY LANE, INCLUDES HAULING, STRIPPING, STOCK PILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, AND REAPPLICATION OF STRIPPINGS IN ACCORDANCE WITH THE CONSTRUCTION PLANS, COMPLETE IN PLACE	LS	1	\$14,000.00	\$14,000.00	\$2,630.00	\$2,630.00
5	STABILIZED CONSTRUCTION EXIT AT LOCATION SHOWN ON PLANS, TO INCLUDE INSTALLATION, MAINTENANCE, AND REMOVAL, (TO BE USED AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00	\$3,835.00	\$3,835.00

	DIRECTION OF THE ENGINEER), COMPLETE IN PLACE						
	6 CONCRETE TRUCK WASHOUT PIT, TO INCLUDE INSTALLATION, MAINTENANCE, AND REMOVAL, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$700.00	\$700.00	\$767.00	\$767.00
LE	VEY LOGISTICS MISCELLANEOUS ITEMS SUBTOTAL:				\$43,950.00		\$29,649.00
BIE	DDING SUMMARY						
SU	BTOTAL LEVEY LANE WATER ITEMS				\$54,800.00		\$51,675.00
SU	BTOTAL LEVEY LANE STORM SEWER ITEMS				\$473,854.00		\$531,666.88
SU	BTOTAL LEVEY LANE PAVING IMPROVEMENT ITEMS				\$348,092.00		\$225,378.00
SU	BTOTAL LEVEY LANE MISCELLANEOUS ITEMS				\$68,136.00		\$23,476.00
SU	BTOTAL BELTWAY 8 AND HOOPER WATER LINE			4 4	\$382,700.00		\$495,568.00

MAY 14, 2024

2209-2004 (9.2)

FRN F-1386 LJA Engineering, Inc.